

Function Operations

$$
\begin{aligned}
& f(x)=x^{2}+3 x+2 \quad g(x)=3 x^{2}-x+7 \\
& \begin{aligned}
(f+g)(x) & =x^{2}+3 x+2+3 x^{2}-x+7 \\
& =4 x^{2}+2 x+9 \\
& =\left(x^{2}+3 x+2\right)\left(3 x^{2}-x+7\right) \\
(f g)(x) & =3 x^{4}-x^{2}+7 x^{2}+9 x^{3}-3 x^{2}+21 x+2 x+14 \\
= & 3 x^{4}+8 x^{3}+10 x^{2}+19 x+14
\end{aligned}
\end{aligned}
$$

$$
\left.f(x)=3 x+2 \quad g(x)=x^{2}-2 x+4 \quad h(x)=\frac{3 x^{2}+2}{x^{2}-1} K(x)=1 \right\rvert\,-12 x+1
$$

Composition of functions- put a function in a function

$$
\begin{aligned}
& \rightarrow f[g(x)]=3\left(x^{2}-2 x+4\right)+2 \\
& f \text { of } g \text { of } x=3 x^{2}-6 x+12+2 \\
& =3 x^{2}-6 x+14 \\
& \left\{\begin{array}{l}
(h \circ K)(x) \\
=\frac{3(\sqrt{2 x+1})^{2}+2}{(\sqrt{2 x+1})^{2}-1} \\
=\frac{3(2 x+1)+2}{2 x+x-1}
\end{array}\right. \\
& =\frac{6 x+3+2}{2 x} \\
& =\frac{6 x+5}{2 x} \\
& f(x)=3 x+2 \quad g(x)=x^{2}-2 x+4 \\
& (g \circ f)(3) \\
& \text { Put } 3 \text { into } f \text { and find the value }=11 \text {. } \\
& \text { Put that answer into g. } \\
& f(3)=3(3)+2 \\
& \text { Easier to see it as } g[f(\mathbf{t})] \text {. }
\end{aligned}
$$

